PROJLEM
T

L

O The Vthc,cx\ (&\OJ\Q, X=a cuks

the 3m9\'\ i o curve G
Fl= <oy Y ‘F(‘l"ﬁ)>

}
® &f\ - <9., 1, (>

Ay by |
S o ’rzm%su\\ e o G
C\,\S (a, ‘o, F@}o\) o

\

@ N = <4L0, (@ <o)\,

Find ex‘v\a\'\m‘ ag- ‘}Anéo,n\’ P\qﬂQ 1o ’zz.?(x,»))
o the  pot (a

fto1) 3
T

(D The vertical p\aﬁQ y=b culs
the ara(o\r\ WM o cure DY
Ty =< xy by L) >

L

O%ﬁc\ = <1, 0% gx@’b)>

1S o \'Rf\gu\‘\‘ \ceckbrko D
CL\) CO\) \o, Ha,b\» .

/

Py

< -6y (G"\’\; ’“pj ("H\Q 9 i

S o formol wedker  to the ’nmam* Plono

’

®© Equatisn ) Wagead ploce s
(= o) (x=a) + (= fyen) Gou) +00) @E-fed)=0

o’

TaneenT 12 = L) ¥ £ @) (=) 1 fe) (31

PLane




